## RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL (Approving the FY 2011 Department of Health & Human Services/Indian Health Services Budgets)

**RESOLUTION NO. 10-297** 

1	WHEREAS	, the Tohono O'odham Na	tion has historically	contracted certain f	unctions from the
2		Indian Health Service; an	ıd		
3	WHEREAS	, the Executive Branch has	approved and prese	nted the FY 2011 TO	)HHS/IHS budget
4		as listed below, to be ef	fective October 1, 20	010 through Septem	ıber 30, 2011 and
5		requests authorization to	o expend the funds lis	sted below; and	
6	WHEREAS	, the Nation has identified	prior year savings ass	ociated with various	programs funded
7		from the Indian Health Se	rvice master contrac	and has developed b	oudgets proposing
8		to carry forward these sa	vings in FY 2011, as li	sted below; and	
9	WHEREAS	, it is anticipated that (	the program budge	ts will be adjusted	d after Congress
10	ī	appropriates funding for	r the IHS for FY 201	l and the FY 2011 f	unding levels are
11		provided to the Nation,	and that those adjus	sted budgets will be	presented to the
12		Legislative Council for ap	proval; and		
13	WHEREAS.	the programs shall limit s	spending to only esse	ntial Program servi	ces, functions and
14		activities pending federa	l appropriations and	the Nation shall see	k reimbursemen
15		of all funds the Nation ex	xpands for continuat	tion of TODHHS pro	grams performed
16		pursuant to the P.L. 93-63	38.		
17	NOW, THE	REFORE, BE IT RESOLVED th	at the Tohono O'odha	ım Legislative Counc	il hereby approve
18		the budgets presented be	elow, and authorizes	the Executive Branc	h to expend funds
19		for the programs listed l	herein and as attach	ed in the amount in	adicated effective
20		October 1, 2010 ending Se	eptember 30, 2011.		
21	ĺ	PROGRAM	BASE ALLOCATION	INDIRECT COST	TOTAL

PROGRAM	BASE ALLOCATION	INDIRECT COST	TOTAL
1. Management of Health	\$ 510,670.95	\$ 83,819.01	\$ 594,489.96
2. HIV AIDS	\$ 53,272.00	\$ 9,216.06	\$ 62,488.06
3. Community Health	\$ 1,680,910.00	<b>\$</b> 290,797.43	\$ 1,971,707.43
4. Behavioral Health	\$ 2,086,493.61	\$ 309,063.39	\$ 2,395,557.00
Total	<b>\$ 4,331,346.56</b>	\$ 692,895.89	\$ 5,024,242.45

BE IT FURTHER RESOLVED by the Tohono O'odham Legislative Council that the programs shall limit spending to only essential Program services, functions and activities pending federal appropriations and the Nation shall seek reimbursement of all funds the Nation expands for continuation of TODHHS Programs performed pursuant to the P.L. 93-638 contract.

ATTECT.

(Approving the FY 2011 Department of Health & Human Services/Indian Health Services Budgets)
Page 2 of 3

BE IT FURTHER RESOLVED that the Tohono O'odham Legislative Council approves the proposed carry forward of identified savings as presented in the program budgets listed below and authorizes the programs to expend funds as budgeted:

PROGRAM	<u>SAVINGS</u>	SAVINGS INDIRECT COST	
1. Management of Health	\$ 498,776.52	\$ 55,403.43	\$ 554,179.95
2. HIV AIDS	\$ 139,824.22	\$ 16,300.79	\$ 156,125.01
3. Community Health	\$ 344,801.36	\$ 49,962.64	\$ 394,764.00
4. Behavioral Health	\$ 1,187,746.89	\$ 55,887.11	\$ 1,243,634.00
Tota	1 \$ 2,171,148.99	\$ 177,553.97	\$ 2,348,702.96

BE IT FINALLY RESOLVED by the Tohono O'odham Legislative Council that the Tohono O'odham
Official Nation's Chairman, is authorized to negotiate and execute the Indian Health
Service FY 2011 Annual Funding Agreement with the Indian Health Service.

The foregoing Resolution was passed by the Tohono O'odham Legislative Council on the 29<sup>TH</sup> Day of JULY, 2010 at a meeting at which a quorum was present with a vote of 2,595.50 FOR;-0- AGAINST; -01-NOT VOTING; and [05] ABSENT, pursuant to the powers vested in the Council by Article VI, Section 1 (d)(2) of the Constitution of the Tohono O'odham Nation, adopted by the Tohono O'odham Nation on January 18, 1986; and approved by the Acting Deputy Assistant Secretary - Indian Affairs (Operations) on March 6, 1986, pursuant to Section 16 of the Act of June 18, 1934 (48 Stat. 984).

TOHONO O'ODHAM LEGISLATIVE COUNCIL

Deluia Verlon M. Jose, Legi	Mun	Es for	ر ر
Verlon M. Jose, Legi	slative Cha	irman	
6Hday of Aug	gust	, 2010	

ANTANIA	Mi	
Evonne Wilson,	Legislative Seco	retary
<u></u>	ayrst	, 2010.

TOHONO O'ODHAM LEGISLATIVE COUNCIL

Televia Munity for Verlon M. Jose, Legislative Chairman

APPROVED	on the 66 day of Cup, 2010
DISAPPROVED	on the day of white, 2010 at 12-3 o'clock, .M.
	Ml M
	NED NORRIS, JR., CHAIRMAN TOHONO O'ODHAM NATION
	TORONO O ODIEM MARKON
	(a
urned to the Legislative Secre	tary on the day of
writed to the Legislative Secretary, 2010, at	<u>4.09</u> o'clock, <u>√</u> .M.
nne Wilson, Legislative Secret	ary

ACTION: APPROVING THE FY 2011 DEPARTMENT OF HEALTH & HUMAN SERVICES/INDIAN HEALTH SERVICES

**BUDGETS** 

MOVED: COUNCILWOMAN OLIVIA VILLEGAS-LISTON SECOND: COUNCILWOMAN EVELYN JUAN MANUEL

**DATE:** JULY 29, 2010

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
SIF OIDAK 198.7	WAVALENE ROMERO     (Nicholas Jose)     MARY LOPEZ	99.35 99.35	x x			Х
SELLS	1. KIMBERLY LISTO	224.80	x		-	
449.6	2. EVELYN B. JUAN MANUEL	224.80	x			
SCHUK TOAK 159.0	1. FRANCES B. CONDE (Fredrick Jose)	79.50	х			
139.0	2. LINDA PARLEY (Agnes Joaquin)	79.50	X			
SAN XAVIER	1. FELICIA NUÑEZ	102.35	x			
204.7	2. OLIVIA VILLEGAS-LISTON (Eugene Enis)	102.35	X			
SAN LUCY	1. LORRAINE EILER	93.55	X			X
187.1	2. GLORIA RAMIREZ ( )	93.55	X			
PISINEMO	1. CHESTER ANTONE (Absent)	92.25	x			
184.5	(Tony Murrietta) (Present) 2. EDWARD MANUEL (Gerald Fayuant)	92.25	х		x	
HICKIWAN	1. MICHELLE ORTEGA	87.25	X			
174.5	2. SANDRA ORTEGA	87.25	X			x
GU VO	1. GRACE MANUEL	103.15	х	·		x
206.3	2. PAMELA ANGHILL (Angela Ortiz)	103.15	х			
GU ACHI	1. TIMOTHY L. JOAQUIN	115.05	X			
230.1	2. CYNTHIA E. MANUEL	115.05	Х			X
CHUKUT KUK	1. ETHEL GARCIA (Sara Mae Williams)	138.50	X			
277.0	2. VERLON M. JOSE ( )	138.50	X			
BABOQUIVARI	1. FRANCES MIGUEL (Absent)	162.0	х			
324.0	(Roberta Harvey) (Present) 2. FRANCES G. ANTONE (Absent) (Vernon Smith) (Present)	162.0	Х			
	TOTAL	2,595.50	2,595.50	-0-	-01-	[05]